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QUESTION 1

The user creates a mapping by using aggregator transformation. The aggregator transformation receives sorted input
from sorted transformation. What is the dafault partition type for aggregator transformation?

A. Pass-through

B. Hash auto-keys

C. Not a valid partition points

D. Based on the transformation scope

Correct Answer: B

QUESTION 2

A workflow has a session task. Both workflow and session each have been assigned a different parameter file. Which
value will be set for $$ParameterValue in the session when using the following two parameter files?"

Workflow Parameter file: [Global] $$ParameterValue=I [Session] $$ParameterValue=2
Session Parameter file: [Global] $$ParameterValue=3 [Session] $$ParameterValue=4
Al
B. 2
C.3
D.4

Correct Answer: A

QUESTION 3

Can you use a Decode function to perform multiple searches based on a single search value?
A. No

B. Yes

C. Yes, but only if the port being searched Is sorted first

D. Yes, but only if the port is downstream of a router transformation

Correct Answer: B

QUESTION 4
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An Update Strategy transformation has the Forward Rejected Rows attribute unchecked. Which statement is correct
and true?

A. Records that are tagged for rejection are projected downstream to the next transformation so long as the ports are
connected properly

B. Records that are tagged for rejection are dropped and not projected downstream to the next transformation
C. The Forward Rejected Rows attribute cannot be cleared after the transformation is created

D. The Forward Rejected Rows attribute is only applicable when records are tagged for rejection upstream of the
Update Strategy transformation

Correct Answer: B

QUESTION 5

Which statement on workflows is correct?

A. In a default configuration, a workflow must contain at least one session task

B. A workflow can contain multiple start points

C. In a default configuration, a workflow parameter file overrides all parameter files in underlying sessions
D. Another workflow cannot be executed from within a workflow

Correct Answer: C
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